WTS Cost Example 2

Consider a prototype system with the following characteristics:

1. coagulant dosage of 60 mg/L

flowrate 800 mL/min

run time of 55 minutes

2 inches of anthracite and 6 inches of filter sand
replace filter material once every five years

3 prototype sedimentation tanks

Compute the total yearly cost of this system
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Coagulant and Flocculation Cost
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Sedimentation Cost
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Filter Cost
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Filter Media Cost

CostFMA:($9.5oj(thickness(in)ft](mooﬁz)( NF j

ft 12 inches #of years
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ft® 12 inches #of years



Total Cost

Costcr =
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Costr =
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Costrms =

Total Cost =



